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FIRST SEMESTER
HS 11 - TECHNICAL ENGLISH-1

CIVIL ENGINEERING

(Common to All B.E./B.Tech)

Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. Match the words in Column A with their meanings in
Column B: (4 x%=2)

A B
\ (a) objective (i) giving out rays
(b) fantasy (ii) reservoir
(c) radiation (iityaim
(d) catchment (iv) wild imagination

2. Fill in the blanks with the different forms of the word:
@x%=2)
Noun Adjective Person Concerned
geological

Technology
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words: @ x%=2)

(i) pure
(ii) normal
(ii1) regular

(iv) advantage

Fill in the blanks with the correct verb form: (4x% =2)

(a) Churchill, statesman and writer,
more.

(s / are) no

(b) One of my friends ___ (is/are) going abroad today.

(c) Any new vehicle (has/have) to be registered.

(d) There (was/were) three meetings in

succession.

Rewrite the following infinitive forms in the sentences as
gerunds: (2x1=2)
(a) To plan before a work is very essential.
(b) To do aerobics is good for health.
Fill in the blanks with the comparative forms of the
adjectives given in the brackets: (4x% = 2)

@) Aluminium is (abundant) than any other
metallic element.

(ii) Reema feels much (well) today than she did
yesterday.

(iif)The open reel tape is (thick) than the cassette
tape.

(iv) Diesel costs (little) than petrol.
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Write a single sentence definition for the following:
2x1=2)

a. Telescope 1. Microscope
Fill in the blanks with the appropriate modal verbs:
@2x1=2)

a. The product with the better-known brand name
__ always sell better (shall / will).

b. Veena took her umbrella in case it rain. (should /

would).

Complete the following sentences using an appropriate

clause: @2x1=2)

a. If he communicates effectively, .

b. If the battery of the cax is down, .

Change the following sentences into passive voice:
E 2x1=2)

a. The auditors are checking the accounts.

b, The crew found the meteorological information vers
useful.
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Read the following passage carefully and answer the
questions given at the end of it:

The heavy damage caused by the recent spell of rain
has made the experts in highways put forward a strong
case for the laying of Cement Concrete (CC) roads. They
say that the advantages of CC roads far outstrip those of
bituminous roads in cost, longevity, maintenance and
riding comfort. They stress that while the Tamil Nadu
Government spends Rs. 10 crores for relaying the
bituminous roads in Chennai alone after every strong
monsoon, the CC roads will last 40 years and require no
maintenance. Moreover, cement is available in plenty
now.

As Cement Concrete roads have a smooth surface, they
provide better riding comfort and the consumption of fuel
will be less. Visibility at night will be better. It will not
disintegrate due to ageing. Many experts say that the
laying of CC roads on the national highways will be
cheaper than the laying of bituminous roads. However,
the supervisory engineering staff and the quality control
staff should be strict when laying the CC roads.
According to rough calculations, while the laying of
bituminous roads over a stretch of one km will cost Rs. 15
lakh, the CC road will entail an expenditure of Rs. 10 lakh
only. But the construction of CC roads in rural areas will
be initially costlier than bituminous roads.

Bituminous roads do not last long because water
penetrates the bitumen layer and seeps into the cavities
below, thus forming a film between the two. Later, when
vehicles ply over the wet surface, the upper layer is
stripped away and ‘pot holes’ are formed. But this does
not happen on CC roads.
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[image: image5.png]Cement Concrete roads have a few disadvantages. It is
not easy to cut them open to lay electricity or telephone
cables. During day-time, visibility is better on bituminous
roads; on the other hand, on CC roads visibility is better
at night. Joints pose a problem on CC roads and research
is being done on how to avoid joints in them.

(a) Complete the following by adding not more than 15
words each. (2x2=4)

(i) If the quality control staff are not strict when the
CC roads are being built__

(i) Although the CC roads have a few
disadvantages,

(b) State whether the following statements are true or
false: (4 x1=4)

() The initial cost of laying CC roads in rural areas
will be moré-than Rs. 15 lakhs per km.

(i) Bituminous roads have less life than CC roads.
(iii) Now there are a few CC roads in Chennai.
(iv) At all tifes, the visibility on CC roads are better
than the visibility on bituminous roads.
(@) Give short answers in not more than 15 words each.
(2 x 2=4)

(i) Why are bituminous roads no longer an
economical proposition?

(ii) Why is it necessary to rely the bituminous
roads after the monsoon?
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6] are formed when the upper layer of
the bitumen road is stripped off.

(ii) is better on bituminous roads,

(iii) pose a problem on concrete

roads.
(iv) is not easy to cut open to lay
electricity or telephone cables,
12. (@) (@) Make notes for the' passage given in question
no. 11. Use the correct format of note-making.
®
Or

(i) Write an itinerary for a group of 60 students
who are planning to visit the Rajiv Gandhi

National Park. ®)
(b) () Writea paragraph comparing land mail and e-
mail. ®
Or

(i) Write a paragraph comparing computers and
calculators. (8)

13. (@ () Write a letter to Wipro Computers, Chennai
asking for practical training. Assume yourself
as a student of Computer Science and
Engineering. 8)

Or
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(a)
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0]

i)

@

Write a letter of invitation to the Director,
Chennai Doordharsan, requesting him to
inaugurate the “ARTS FESTIVAL" of your
college. ®

Write a letter to the Editor of ‘The Hinduw’,
Chennai complaining of irregular power supply
in your area. ®

Or

Write a letter to the Editor of ‘The New Indian
Express’, suggesting measures to the problem
of frequent accidents that occur in your street.

®
Convert the following passage into a bar chart:

The .number of students from various
undergraduate courses of a university who
passed out in 2009-10 and chose various career
/ higher studies options are given below. The
total number of students who passed out is 550.
The number of students who joined the Armed
Forces. i.e.the Army, the Navy and the Air
Force are 30, 15 and 25 respectively. Around
175 students were placed in several MNCs all
over India. 60 students opted for a course in
Master of Business Administration in various
institutes, 5 students were fortunate to enter
the prestigious Indian Administrative Service,
40 students opted to do their higher studies
abroad. 55 students got jobs in various public
sector undertakings. The remaining students
decided to do their master in the same
university. Draw a bar chart based on the
above information. ®)

7
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The pie chart given below describes the
different sectors, to which a country allocates
founds as per its annual budget (Industry-15%,
Agriculture-23%, Education-20%, Defence-30%,
Health-12%). Write a paragraph in about 100
words explaining the information given in the
chart. Also give your comments in about 100
words whether it is prudent for a country to
allot more funds to defence than to other
sectors like education, agriculture, health,
industry etc:

& Industry

& Agriculture
D€duca on
D Defence

W Health

®

Write a set of 8 instructions to be followed by

the studerits in a college library. 8)
Or

Rearrange the following sentences in sequence:
(i) What are the techniques used for observing
and taking pictures of animals at night?

(ii) They therefore, use a torch with a red mask.

(iii) Any bright light will scare away the
animals.
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[image: image9.png](iv) Today, with very sophisticated cameras and
lighting devices, it is possible to photograph

and make recordings of the cries of animals in
their dark and inaccessible forests haunts,

(v) Animal watchers have observed the various
activities of animals at night like playing,
chasing their prey, courting, etc.

(vi) Here scientists take advantage of the fact
that most animals are blind to red light.

(vii) But how does one watch animals in
darkness?

(viii) Infrared telescopes have also been used to
observe animals at night. 8)

15. (a) Water is the elixir of life. Elucidate your ideas in
about 500 words. 16)

Or

(b) Write an essay in about 500 words “on road safety”.
. (16}

M445




